Run 101 Scans 1-15 Charges 0.45-3.60 fC Module 0 Stream O

Response Curve chip 0 Response Curve chip 1 [vem=0 J |Response Curve chip 2 [Nent=0 | Gain chip 0 [Nent=0 ] Gain chip 1 [Nent=0 ] Gain chip 2 [Nent=0 |

Response Curve chip 3 [nen-0 J| [Response Curve chip 4 [Nem-0 J [Response Curve chip 5 Gain chip 3 Neni=0 ] Gain chip 4 [Nem=0 | Gain chip 5

Output Noise chip 0 W Output Noise chip 1 m Output Noise chip 2 m Input Noise chip 0 m Input Noise chip 1 m Input Noise chip 2 m

Output Noise chip 3 [Nent=0 | Output Noise chip 4 [Nent=0 ] Output Noise chip 5 Input Noise chip 3 [Nent=0 ] Input Noise chip 4 [Nent=0 | Input Noise chip 5




Run 101 Scans 1-15 Charges 0.45-3.60 fC Module 0 Stream 1

Response Curve chip 0 Response Curve chip 1 [vem=0 J |Response Curve chip 2 [Nent=0 | Gain chip 0 [Nent=0 ] Gain chip 1 [Nent=0 ] Gain chip 2 [Nent=0 |

Response Curve chip 3 [nen-0 J| [Response Curve chip 4 [Nem-0 J [Response Curve chip 5 Gain chip 3 Neni=0 ] Gain chip 4 [Nem=0 | Gain chip 5

Output Noise chip 0 W Output Noise chip 1 m Output Noise chip 2 m Input Noise chip 0 m Input Noise chip 1 m Input Noise chip 2 m

Output Noise chip 3 [Nent=0 | Output Noise chip 4 [Nent=0 ] Output Noise chip 5 Input Noise chip 3 [Nent=0 ] Input Noise chip 4 [Nent=0 | Input Noise chip 5




